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Note :

Describe the construction and working of an electric
motor.
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Describe the use of different materials in building
construction.
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Describe the working and advantages of an air cooled
engine,
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Attempt any three questions. Each question carries
10 marks.

:ﬁﬁﬁ%ﬁqmﬁa%aﬁéﬁﬁmmwmaﬁw
g1

{3) [P.T.0.]

https://www.ccsustudy.com

10.

3200

Explain construction and working of the following parts

of an internal combustion engine :
Cylinder liner, Cylinder block, Connectirzg_; rod, Flywhee|
Piston Ring.
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Find I.H.P. and B.H.P. of a four stroke cycle engine with
the help of following data.

Bore =21cm, Stroke = 30cm, Speed = 1500rpm, Mean

effective pressure = 7 kg per {:rnz, No of cylinder = 3
Mechanice_al efficiency = 70%
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(a) Explain the construction of a mould board

plough with the help of a diagram.

(b) Explain the factors affecting the working and

draft of a mould board plough.
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Explain the working unite of a power thresher with the
help of a diagram. Explain the troubles in the operation

of a thresher.
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Explain the construction and seed metering device of a

seed drill.
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